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If |A|=0, then matrix A Is called :
,(A) Singular matrix
(B) Unit matrix
(C) Null matrix
(D) Row matrix
A train 800 metres Io'ng is running at
a speed of 78 Km/hr. If it crosses a
tunnel in 1 minute,' then the length of
the tunnel (in metres) is :
_{A) 130 |
~(B) 360
(C) 500
(D) 540
Nitin and Mohit started a 'busil_")ess
- by investing ¥50,000 veach injt’fally.
After 4 months, Nitin had to withdraw

%10,000. If the total' profit ét the and

1.

() Had Aa

(B) 7w
(©) g
(D) tfts Hfgare
o0 e i 4 78 o cr B &

aa%é%lu%ug%g@aﬁfﬁ%ﬁm

8, A e o (e ) &
(A) 130 |
.. .(B) 360 n

© '560'»

.(VD') 540 / o

3. e ok fee 3 g 50,000 0 o7

of the yéar was ?20;000, What is the |

share of Nitin?

(A) 210,000

(B) %10,714
. (C) 29,286

-~ (D) %8489

18098\P\2024
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(D) %8489

mm%mg@mlmﬁﬁaﬁ

ﬁﬁjaﬁ1o,ooo*@qﬁﬁ$ﬁ%ﬁé,'dﬁ_aﬁs i
ﬁaﬁgamzo,ooomm,aiﬁ%ﬂm .

e o &2

(A) 10,000

(B) %10,714

(C) 9,286
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4. The spoed of the boat when travelling
down stream 18 38km/hr, whara ns‘
travolling  upstream 1L 18 32Km/hr.
What s the speed (In Kmzhr) of boat

(o
in still water?
(A) 33
(B) 34
~AC) 35
(D) 36

What is the simple interest on ¥7200 in

wn

7 years at the rate of 14% per annum?

(A) %6800
(B) 6812
C) 17056
(D) 27096
6. The selling price of a glass is =<"1965
and loss percent Is 25%. If selling
price Is 3013, then what will be the
profit percent? -‘
(A) 13
,(B) 10.4
(C) 15

(D) 20
18088\P12024
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o YRI5 SRR AR R e 1 oy i 2g

fasth. jeiet &, srfs oy 3 Ticiger amn oy
AT e Y ufy 30 Ry, jeiey & iy T %

w1t bt Ry (R, peier 1) o 7

(M) 33

(B) 34

(C) 35,

(D) 36
7200 W0 R 14 e wfy af & e & 7 98
¥ IR &5 R 2

(A) 76800
' (B) %6812

(C) %7056

(D) %7096
s fiema &1 fia e 1965 TR & 3R

wfr wfie 25 whew &1 ot fsa 0@

3013 R A T R R R
(A) 13 ’
(8) 104
kC) 15

(D) 20



TWO numbears X andg Y are n the ratlo
18 and thelr sum is 344, Then X s !
Q) 10 : »
(8) 12
(C) 14
AD) 186
S. A computer is available for ‘{"39,000
cash orI17000 as cash down payments

followed by five monthly instalments

7

8.

of T4800 each. What is the rate of

interast under the ihstalment plan?
(A) 35.71% p.a.

(B) 36.71% p.a.

/QC) 37.71% p.a.
(D) 38.71% p.a. |

9. 1f5:a::20:28, then ais equal to-:

(A 4
(B) 6

A0 7
(D) 8

~ (B) 36.71% p.a. Widay

10. If a matrix has ‘6 elemenés, then

numbers of possible orders of the
matrix can be : ‘

(A) 2

(B) 4

© 3

AD) 6
12092\P12024

'[5]

o wleoit] x sl y wr s 8 % A 27

o R ey x i
(A) 10
(B) 12

(C) 14

(D) 16

U HRER 39,000 T BT AT 17000 T

T B e & dr 4800 FIY & oig

SWT?T .W»RW%H
_ (~A)-_" 35.71% p.a. Ufiay

(C) 3771% p.a. Ufcad

10.

-(D) 38 71% p.a. s:eraé -

o s 2028% a‘raaw’%

(A) 4
(B) 6
() 7
(D) 8

nﬁm%ﬁ’rwm%lﬁw%r 1
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(A) _—

(B) 4

@

(D) 6

N
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12.

13.

14,

(C) 24X -

‘ years: o adf # <rp & S
A sum becomes Its double In 10 years. ‘11 157 'v:lﬁﬁ 1 a’nfﬁ ;Ex WQTRUT

Find the annual rate of slmple Intere‘st: | Cin| a?r aﬂ%&fs = T P :
(A) 8%

(A) 8% L | (5) .

e L (C) 10%

(C) 10% - - (,j) .

(D) 20% - hafsy |

At a rate of simple interest, an amount 12, mwﬁa‘\r‘-@{g’mo S o o
o # 2352 W &1 ST 21 TR T o 1 gl

of 72100 becomes 72352 in 2 years: If
the interest rate is decreased by 1%, - ma’rma‘rzﬁa@fﬁqmmmmp
what is the new mterest |n two yeers" i (A) ?210

(A) 210% R S S

(B) 220%

(D) 2522

A diagonal matfix_Ajf;_t_):ayin'g_;;?f.e‘dl’;!a,l;
elements is called a : | B
./GA) Scaler matrix

(B) Transpose matrix -

(C) Inverse matrix e " (C) ﬂﬁmﬁﬁ_ﬂ(m) ‘

(D) Null matrix PR 3 (B’) sﬁﬂﬁﬁ(mﬂ?&')

Lawwhich’does not_heldin‘multiplicati‘qﬁ‘.‘._ | 14 . ﬁﬂﬂ Eﬁ 34T59\‘s“f (ﬂﬁﬁi‘f 3 ’IUHﬁ uBE
~of matrices is knownas: . :I?"RT@HT ﬂ?ﬂ?ﬂ%‘

(A) Associative iaw S (A) Hﬁiﬁfﬁ'ﬂﬂ

(B) Commutative law - | (B) amﬁﬁﬁaﬁaw :
_C) Distributive law . .. (©) ﬁﬁ‘wn?ﬂaﬁm

(D)' None of these - ,w' o o (D) S’fﬁ‘\#ﬁ??@f

18098\P\2024 ~ egt A



| 15.

o

What Is the rate of interest (in%) If

_ simple Interest earned on ‘a certain

In '
sum for three years is ?6000 and

comppund interest earngad ‘for 2 years

16

2% AR)
(C)

17.

" S.I and C.L on ‘a.'s'urn«,of,.-?_IISOOO~for':« |

118098\P\2024

a4

(D)

(C) %250.129

(D) %324.357 ¢ i

n v

is 741607

® o

(B) 8

© 12

(D) 6
x‘=4- then find the value of x :
. | :

(B) -4
+2

+4

What will be the differ'enc'e»-b'eitweeh.jv

.16,

o e
125 ‘5”5‘5'3 Hﬁaﬁa%wma(q-\r 2 aqf'- '4

2 years at the same: rate of interest of

»

12L2% pei- annuﬁ-r;-
(A) ?230_550"

(B) 2234.375 . ...

15. mﬂﬁm(qﬁwﬁ)w%uﬁwﬁﬁw

17,

- '(D)‘ 6
|
(A

. |

ﬂ%wﬁﬁaﬁas%uaﬁfawmm
‘GOQOW%‘_ST\‘\’ZHG\T%%ES&HW
ST 4160 T & : |
(A) 9

'(B)‘ 8 |

' (C)b 12

i|=4masrquamﬁ%ﬂz U ;-

R N LR - St
S- I L R R A A P A
+2 SN o szt :""L,'.j’.’" W e T \

»‘ias%vwoooma%m%mmwm

(A) ?230 550

® ?'2..34_—37-5*

U (0) 7250.129

(D) R32A357 T

YopTO.



18. If the ratlo between the areas 0O

19.

21.

circles ls 4;1 then theratlo \bet‘ween
.thel‘r radiuswillbe s

(A) 1:2

(B) 2:1

(C) 13

(D) 4:1

is the area of another crrcle havmg

f two

" radius 1.5 times the actual C|rc|e? : ;

(A) 1296 cm? |
. (B) 1386,c_nf_12 )

(C) 1352 cm?

(D) 1485cm?

. Awatch reads 4.30. If ‘the'm'ir:l‘UtéHand;

18.

The radius of a circle is 14cm What 19

o 21 g 3 e & g 1

ﬁmﬁﬁmﬁ%ﬁaamﬁmgﬁm
(A) 1:2

(®) 2:1

: (C) 11:3

©) 41

-'%aﬂa)ﬁmm-@rﬁrglmaﬁa;gﬁ

Hﬁﬁmﬁwwﬁmaﬁ@%gﬁm
&)Wamé e

(A) 1296 cm?

.~(B) 1386 cm?

points towards. East m what dlrefé:tlon S

will the hour. hand pomt? i
(A) North o
(B) North-West™
/(C) South East 4

(D) North East

A clock gains 5 minutesin orie hours -

therefore, the angle traversed by the

minute hand in 1 hour | is : /
(A) 3600

(B) 3000

(C) 390.5°

| _ ,4(D)_ None ofthese ‘

18098\P12024
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| %&mﬁﬁﬁ? :

( (C) 1352 cm2

(D) 1485 cm?

. TP T W 4.30 §1 R &I af fire & 4

o o oiR 3 e 2, araeaggeﬂ

(A) I

(B) FWR-uf¥m

(C) armgac

ROES:

21.

‘Wuﬁwuﬁﬁsﬁ%mmaﬁél
sﬂf%w ﬁaaa?rﬁs‘mwéﬁau%m
e :

RO

(B) 390°
flc) 39050
(D) saﬁ@éaé’r



'-“D'irections. (Questions 22 to24)

. Study

. .-the table and answer the gi\)en questiens:

. |Year/ | 2006 | 2007 | 2008 | 2009 [ 2010

- | Book _ '
.| Club 1

M | 189 | 133 | 169 | 113 | 189

"N | 125 | 164 | 205 | 129 | 187

O | 121 120 | 189 | 178 |(335

P | 147 | 167 | 145 | 147 | 123

Q | 129 | 234 | 154 | 169 | 177

22 Number of members’ in book club O

increased by what percent from 2007

1020107 <
L (A) 65
T (B)- 645

-{(C) - |

© 625

23,

- number of members in book clubs O

What is the difference. between total .

f .

(A) 98
(B) 94
(C) 96

(D) 106

18098\P\2024 .

T

feem-forder (e 22\# 24 TE) : I BT AT

R 3R v v re IR A
af | 3w | 2006 | 2007 | 2008 |.2009 | 2010
CigCA
M 189 | 133 | 169 | 113 | 189
N 125 | 164 | 205 | 129 | 187
0 121 | 120 | 189 | 178 | 195
P 147 | 167 | 145 | 147 | 123
Q | 129} 234 | 154 | 169 | 177
22. 2007 ¥ 2010.7% §® To@ O ¥ & B
<R febe v 9 TP
(A) 65

' book clubs M and N together in 20087

[91

" (B) 61'1.5}

23,

: 'and P together in 2006 and that in":.

"V(A) 98 -

(©) s8
(D) 62.5 _. _

2006ﬁ§6'aaaosﬂtpﬁ§ama%

| '\ri@raﬂizoosﬁgasaaamaﬁTNﬁ@«r |

'\‘IERﬁ a‘s‘rmaséﬁa mam%?
(B) 94
:'(C) é\s

(D) 106 -
\ " PT.0.




. 24. What is the respective ratio be

tween

tofal number of members in book club

" Min 2006 and 2010 together and that

LA, '.‘.5/6"'t“ih“|es“of the base. Wﬁat is the area

" Gain= 20%-:‘_\'

& .‘(A) 39‘ e

.’f’Fmd ‘the - SP

" in book clubs Q in-the same years
__together?

. ‘g(A') | 21‘:19

(B) 21 17

e (C) 23:19
v ;(\D) 19 23.
: .“:The.pe'rlmeter. of an .isosces triangle is :

: 32,?"0‘“ and each of the equal~side is

o (|n cmz) of the tnangle?

whe ’?'f""c‘i;P.' =356.25,

RO

4B 6750

\ A
(C) 50 68

(D) 66. 20 "°“‘" '

: 18098\P\2024

25.

A.:.26.'

,2'4. 20063ﬂ?201oﬁ§$aﬁamﬁma€r@

e o A a9 g Q i g

ﬁ@ﬁﬁm%éﬁﬁé’r‘mmmg?

(A) 21:19

(B) 213171;-}," ~

(C) 23:19

(D) 19:23 . |

> U Tigarg Bgs ot aRkem 2 ¥ g sk

TR SIS T SR ¥ 5/6 T 1 B
BT &rAer ([0°)  ar &

(A) 39 |
(B) 48
‘('c-)-. 57 -
(D) 64

ﬁﬁ@%ﬂﬁﬁi’ aaamgw'z‘sezs%‘

' .3ﬂ‘\fa‘mzo°/o%

(A) __68.34

(B) 67.50
(C) 50.68

(D)' 68.20 - .



27, Tho aran of & elecla g 2, Ut il mf Gaer '@.'x!

(A) a7 | (A)
(B) 2R (B) 2uR
(C) langth X broadth | (C) longth % breadth
(D) ¥R D) R |
28, If x:6::3:4, find the value of x : | 20, Ul wsr 6584, 50 x"usr TR I TR

(A) 5.75 L () 6T

_(B) 4.5 | (B) 4.5
(C) 7.50 | ‘ (C) 7.0
(D) 8.75 (D) 8.75

29. In how many ways can the word 29, "PLAYER" g @i feery ekt & qredfaRRerd

"PLAYER" be rearranged? - . ﬁﬁmsnm% :
(A) 120 o .J\ (A) 120
(B) 420 | B | T'(B)‘420 i
(o) 720 S - (©) 720 o |
(D) 1020 S | (P) 1020 o : N
30. Find the value of 7P2:_'H D . 30. 7P2‘Eﬁfqﬂmﬂﬁﬁm=
W 2520 () 2520
B 42 o - NOW-E
(C) 48 | (C) 48
(D) None of t.h',es'_e:. TRV | (D)‘ﬁﬁfaﬁqﬁ
31. Log, 5=7 | | 31. agﬁm$ﬂsi?.‘
(A) © S owo
@ 1 B NG
(C) R 0 (C)
AD) None of these " - . (D) FRA BT
18098\P\2024 | (111 S | ‘1'»‘-"fP-T*°--



| ‘.’_52 Log (4+5+6) =2, "
’ o) |og4+|092+'°95 |
/eB) Jog 4 X log 5 x |09 6. |
(C) log (4x5x6)
(D) None of these .
\\ B 33 | The least prlme number |s~':\.t—: Y
wo
( ) 1

,@5) \2
(D) 3

| 34 A traln runnmg at the speed of 120

Km/hr crosses a pole |n 6 Seconds
What is the length of the traln?
,(A) 120 meters N
(B) 200 meters

R (C) 324 meters

\" (D) 150 meters
s Is the f°”°W'n9 matrlx comfortable for

the product of AB?

A [2 3, 4 6]5_. 5

(A) Yes
(B) -'?No .
(C) May be __i\.

,(«D) None of these s

1,8098\P‘\2024 SR

- [.1"2"1:;5_

- -_32 WWB(4+5+6) o e

(A) W"f + FTQ,TIUW2 + me
(B) m4 X F@TU@S X F@TWES
(C) TG (4x5x6)

© e

‘33 W@amm%

(A) 0
@ 1 |
(C) 2’

(D) 3

34 120%&/5{31@7[%%3@6@%@?

6%53?@5@3?3%“&3@%]'@&% |

GRS

(A) _120fna-< o
A\z\BI)&(gOOﬁE‘(
| (C) 324 Hiex

() 150 S "

35 wﬁmﬁfﬁaﬁ:ma;g W)AM‘

W%%ﬂmép_
| L

. A=[2,3,4,6]B=

o w A

(A)- &
(®) T
© e

(D) aﬁ-&a—gqﬁ :



36‘ EValuate the following detel‘mlnants : 36. E[H‘%l&'rﬂ ﬁgﬁw ol W a)—l'-

1€ -
A B
(AY 2 | ‘ | ) 2
(8) 10 (B) 10
© > (C) 5
(D) None of these \ \.\ (D) Eﬁ%raﬁéqﬁr .
|8 4], o | ' 8 4] %
37. Matrices 4 2] is : . 37, W(ﬁ@?\q) [4 2] ¥,
_A) Singular | * - (A) %ﬁmm(ﬁﬁ?ﬂﬂ
| (B). Non-Singular ‘ | - (B) ﬁ‘\’-ﬁﬁmm(ﬁﬁ(ﬂ)
- (©) Both (A) & (B) - | (© (A)‘zﬂ?(B)aﬁ
(D) None of the above D ﬁﬁﬁﬁéq’é‘r
38. The sﬁaller hand of the clock is calléd :  3}8‘:} Eré’r ﬁ@aﬁéaﬁ'fﬁam% L
(A) Long hand " - R | . : (A) a‘q'rgm | | ) ’
(8) Short hand | (B) B @
‘ _(C) Minute hand B R (") ﬁ'-FIEET?I o k\
" (D) None of these - o (D) Wﬁaﬁéqﬁ TR
39. If C.P. is ¥2516 and S.P. is ?2272,‘ﬁnd’ 39. aﬁfaﬂﬁ‘i@ 2516 w?r%‘ ﬁ?ﬁao-a T
the pe.rcentag.e loss : 2972 W%ﬁwﬁ&maﬁmaﬁﬁm i
SA) 0.69% . __ (A) 9.69% - .
(B) 10% h . (B) 10%
(C) 8.12% f . (© ;3.15_%
(D) 7.13% . (D) 7.18%
18098\P\2024 ‘ [13] | | | PTO
| .



40. -\Di\-‘/‘i'de. the number 455 in the rat_i(? 4:3

40. i 455 B 4:3 B I o %

(A) 260 & 195 (A) 260 & 195

"

b4

(B), 195 & 200 - (B) 195'& 200

- (C) 185 8195 e - (C) 185& 195
(D) 200 & 100 e e (D) 200 & 100
b 41, If the s\peed of a boat in still water isp 41. Ufi’m cn:ﬁﬁ:naﬁn% uﬁﬁ/ﬂaéaﬁ'\’

- Kmyhr and the speed of the stream is TR ) 7 ve Rt e 2, 4 e &5 o

: '-vi;}\k‘r/ﬁ/hr,'thén, speed downstream is? Ty
,"";."".-\;A(A)'?.-i‘ﬁ(z.‘-,(?*._b) Km/hr (A) Y2 (a+b) fEwider

A

QRO Km/hr - (B) (u-v) Rslydicn

-

L (O ke (C) (u+v) Fsryeier
D) None of the a'bq)ié‘ - o (D) IR H A B &
42, Ifthe days after tomorrow is saturday. 42, aft et FER & 7 ae & 4 e vER i

g What day was 4 day&\:before yesterday: ~  @rferar
_(A) Friday (A TR
~(B) “Sunday (B) <R

kX (C)Saturday © S

D) Thursday - S o) T

18008PI2024 - [14]




RO

..'Di‘,-ectionl(Questions 43—47) '

I
/

Refer to the pic charL and answe| the

43

glven questlons

"w‘r) A ):vd Aty

The number of tlckets booked for
‘;—«:]-rall ﬁve trains together on. Tuesday.
1‘~';§{\.‘3’;‘|ncreased by 24% as compareld to the -
‘J‘~?‘~5;‘ft.},‘iprevi‘ou5 .day. W'hatftwas‘»-_ t_hé -\numbér
" of tickets booked fall all five trains on

Tuesday?

1 (A) 682
(B). 744

i’_?_'(c':)- 620
(D) ‘640

“,

RS customers for tram A was 24 less than.

, The number of tlckets booked by male

= that .booked for Train C..If the total
number of tickets booked by female,

was 57, what was the number of tickets

booked by male: customers,‘for Tram C?.
(A) 88 S

®) 92,
'-'(C) 96

18098\9\2024 - .

(D). 76

[15]

farrfrdur (st 48-47)s

rlrgi ard Gt 3 R mu weE O gae & .

43, SR @ W o 25 % e v 9w
i e Rease @ e Riwer Rt o g o

24 st &G T e @ <l ot 34 4
gas%rzmﬁm‘rﬁm |
(A) 682

(B) 744

(C) 620

| (D) 640
44, 5 A e o e g g e e e
@ e 37 C ¥ g R Re &

i & 24 A o Tl ¢ A 3k C % fore

o customers for Train A and C together‘ SN

s 57 S, @ g et g1 g fove e
ﬁaﬁra%‘rmamzﬁr?@:rcas%u
(A) 88

B) %2

(C) 9

R

o P.T;O;



45,

, : (C) 48-
(D) 45
a6 W

booked for Tram A B, and D?

5 ’_(B) 95
'.:‘\"'(C) 85

T _"5(D) 84

. 47 ‘ What is the central angle correspondmg "7 47 g;{ B $ %12 'gas %1? TIU %ﬁﬁ a% g;ﬁ %?i ¢

Out of the total number of tickets .45, %Dé?‘%ﬁ‘@ﬁ%ﬁrﬂ?;ié@ 9 |3%§T1"\’ﬂ§q

- booked for Train D 40% were b°°ked A9 40% H%?rn maaﬁ am @5 m e 9

Y

b female customers What is the‘v
y Wwﬁm%o%%uga%um

number of tickets booked for Traln D -
| g 'ﬁmﬁa@rﬁfﬁ’r‘s‘? i
by male cus.t_or‘ners?-';.‘. S g e

.(B)f‘ 42 5~' (B_»)_ 42

| | (C-) .48

e \

What |s the avérag

(A) 89 SR

\‘

- to the total number oft Kk '
1 ‘ kficke ets bééked awamaraaammév %::ﬁm

’ for tram B7 (|n degrees)ﬁ

| (A) 43 2

: ?'.\

®). 43 0.2 {;\:j .

(8) 50.4 ) 4

/(; ) 57 6. ~{(C) 576 :'

18098\P\2024 o

(D) 648 N T (D) 64.8




121 divided by 1115 ; | ek
48: § L s ot . 413 21 a1 fnfdrer fsar mar & -
am NORIE
'.\.(B) 0 A, ey
c@ ”<<:> 19
@ A8 e (D) 18
49. What is the next Prime number after  49. 7 % a1 31T GG W 9 & -
i:\'*e-(A) 13 30 S L

\\: ‘\\\

j (B) 12 o (B) 2
"-ffi (C) 14 e (C). 14
50 Solve 23+3 3 ) Ist)(‘)';?gaﬁzj+3+3:
,(A3 24 N (A)24

® 2 | R T(B') %
© 3 G il R ey oY e

51 '\gﬁaaﬂ'\rtﬁﬁrm 85000?5@31’]'("

15000@&@%%%&%%%@6
% respectlvely In what ratlo the profit = | ﬁa'qu 2aﬁésmasﬁaamﬁm 'ﬁﬁ:l?{
be d|v1ded'-_'.f ﬁ??ﬁﬁ@fﬂﬁ:ﬁmﬁﬁﬁmﬁﬁm

= (D) 27
-51; .'Sumlt and Raw started a busmess by

f'lnvestmg Rs. 85 000 -and Rs.15 OOO“‘_f{T“.‘i,

earned after 2 years

_'between Sumlt and Ravi respectlvely .‘ |
(A) 17:1 o ‘Q"(A) 174
(B) 17:2 JORICES
,’(é‘): 17:3 © s
| (D) 174._*

(D)-17:4 | |
| [171 - i . PTO.

18098\P\2024



Vo

\

a 50/3% for 9 months i

RRIY (A) ?1075 ‘

(B) ?975

/QC) 2875 | g

: (D) %775

53 ‘One snde of rectangular ﬁeId |s 15 :3'53.
U meters and one of |ts dlagonals' is - 17

v-.‘meter Then ﬁnd‘the area of the‘.ﬁeldr:‘;;-_

‘,(A) 120m2

(B) 13om2

| ‘*(C) 140m2’

k 54 Evaluate 30

,(.A—)‘ 870

- :(B) 970 i

o ] »(C) 770

@70

55. Evaluate 5P, -

A "izb_ :
(Bjn110
' (C) '. 98,.
(D) 24
 180981PI2024

,(D) 150m2 -

28'

"\

52, Flnd the snmple Interest of Rs. 7000 at Q,Sé 7000 m??r w® 9 Y 3 %ﬂ:’ 50/3 Eﬂ%ﬁm %

Bty 1§r 'emrmr S ST aa%
(A) ?1075
r(B) 2975

e (©) ?875{'}-.}.'

"(D) 2775 .

Hmarasnﬂma%ruasgansvﬁaéarh

o 770 |

| ‘v,(D)‘6‘70’\":‘
5. gmaa——rﬁsp
& A 120

(B) 110

(CI)\ .98

\'?‘(D)‘;‘ 2




g6: Reduce §7g £ s :q;rmsmﬁx‘raimaﬁ 803 .
~to the lowest term
Yy /(;Af 22 (A). 11/12
B 2324 B (B) 28/24
L © 25/2'7 | (C) 2627 -
© 4/7 | Dy 47
: - Directions : Read the following %Qnﬁ%’fﬂ Mésméﬁfésﬁmﬁﬁﬁﬁgﬁ

- information to answer questions 57- |

o _ammi’rqa‘(srsg ad)| .

59: e

R QRS TandUare standing ina - P Q RS, T8l U 3 &I 3R 3@ 3%

“dircle talking, facing i : L . :
3 ;c1rc ing, facing mwards T is next Ll w R ARITT R T, RS

2 f‘f'tO R who is standmg 3 places away - o - ' '

5 T AEASIIRARESIEIPUS
. ,;from S, Pis standmg 2 seats away_ ' '
f‘f‘"f‘from v - L o 2@E§@sr%‘|
iS?l','ﬁ’Whlch of the following hasto be: true7 57, ﬁﬁ%ﬁaﬁ # i v 2

(A) Pis standlng opp051te to R 3k (A) PR 3'%@@%)

7;(8) Pis standmg next toT o ) ey S am
/ec) P'SSta”d'”gnex”"S ~ (© pspumiwm

(D) Pis standlng next to Q. .l 5 | ~(D)'P Q ?5 amaﬁ @srél

58, Wthh of the following has to be true? 58 ﬁ'ﬂ%ﬁaﬁ Iy P g E?Fﬁ aﬁ%e

/(A) Tls.to'the'rlght‘ofR S | ‘ (A) T Ragmﬂg,ﬁ-\rg |

- (B) Tisto the immediate left of S (B) T S%ﬁﬁmtrar{h aﬂ?%
o (C) Ris to the‘immedia'te left of P (0 R p%@mm-gsmé '

(D) None of the above " | (D) mﬁ%aé:@“r ~, |
-.]iv.'-.18098\P\2024 | [191 : '. = ~~PTO.




B b R RN

Il 59. If U does not want to stand next to Q ‘
Al then :
: ! . (A) S will be next to T.

(A) %768 .

'(B) ?968

(0 %1960 |

,(o) ?2400

e SN

SRR e

Shops No of

Laptops sold

A 350

B 390

Cc . 440

D 550
18098\P\2024 -

U

AESVARS

M/(B') T has to be next to P

(D) Q has to be next toP

?‘168 the sum due g 7

questlons that follow o

dlfferent shops A B, C and D.

sold |

\200

(C) S and T, both will be next toP

60 If the true dlscount on a sum due 2

the table carefully and answer the

.“.\\‘l >: 0

-The glven data is- regardlng the no of'

/ o 'desktops and Iaptops and sold by four
No Desktops

[ NLE RS SRR N

59, X U, Qasa:mﬁesra‘s"rs’mamé

(A) 3 T%Wﬁ?ﬁﬂ
(B) Ta’fP%@vrrfra’Fﬂtrr%t'

. (Q) ssﬂ—\rT, aﬁ:ﬁP%an?rsﬁr

('D)Qa);rf'PasaTmﬁa‘Fnar%t

60. @k 2 o aTa 14% wier af B & F T W

'years hence at 14% per . annum be'

Dlrectlon (Questlons 61 65) study: i

(B) %968

A 9 168 T %’a’réwf%r ¥

(A) ?768

(C) 7 960 |

(D) %2400 oE 3
ﬁ?ﬂﬁ"c‘w masmaeraseuﬁmmi
m?rq%(m 65) L
ﬁmw%mm%waﬁﬁlmaﬂ?

"f ?héﬁréﬁ3ﬂtiﬂ§3ﬁhtsnwrgavﬁ}&’a,ci




\ -\‘” '

5 what is - the average number of g1, gbr A, B, mpmﬁ‘i’!ﬂ@ 3%
_‘_idesktops SO|d by shops , B and D? |

: oY < @ 7
"‘(A) 450

(A) 450

it (B) 420

(o) 440 S (C) 440 - -

R0 460 - o | - (D) 460 -

2'_;”_What is the total number of |a'pt0ps ' 62. 'gastA Baihcmﬁamaﬁwém
i sold by shops A B and C togetherv . ﬁgy—c{'ﬂ@‘r %ﬂ‘d'v?f’é-"?
g_xA) wso () 1180
(e) 1080 - S @) 1080
[*(c) 160 0 ow a (©) 1160
: if_““.;_(D) 1140 EER R (D) 1140

() 420

;o

,3What is the respectiVe'rétio between'  63.- GoH C ik D gRI é’v?r LI E‘h’c’rq ﬁ ol

;,_{-:v‘total number of Iaptops sold by. shops. g s 3k W g -y % éwzm ﬁ Rt
C and D together and . number of .

i »,,‘;.AW%@ﬂﬂﬁf\ﬂH?ﬂﬁmaﬂT%?
"l-",-desktops sold by shop D? , _ R
S S (A) 8:5 P X j'n;_'
o R
,\."‘.(D) 21 L (D) 21 -'?"“{?
5.4;.";Number of laptops sold by shop Als 64, gEM Améﬁwﬁmaﬁmw C
-'?:‘apprOXImately what percent less than -~ gRI il i %%ﬂtr B W ‘@r amm %?r—’r
'»t.lnumber of desktops sold by, shop C? i caE T
s Y () B - R
V'_.'jf._(B) s e e e (B) 45 . e

:(D) 40’ (0) 40

18098\P\2024 o e R e T RO



65. What is the difference ‘betweén the  65. 5o B 3ﬂ1 D ET\'T éﬁ 1113 ﬁm & -
total number of laptops sold by shops T 3ﬂ'\r B C &'RT é’é ﬂU % a%}

B and D together and number of m%é’lﬂ:ﬂﬁ'\’aﬂfé?

desktops sold b shop}Cl?' \ ,
P Y ‘ (A) 460

(A) 460 :. |
' (B) 390
(B) 390 Tl
@ e @
o340 @
66. Which of the foIIowmg is not a Natural ' 66. ﬁm%ﬁgaﬁ%ﬁq@m@ﬁmmqﬁ%a
(A) 1 |
Mmoo
% ek

(C) 7

®2 e |
67 What is the sum of first "20 odd natural% 67 }TQIH 20 ﬁwn@ﬁ%m ~€ﬁ1Tv6YJT %‘?

" numbers?

S 400,

(8) 300

(A) 400 '

® %0
(©) 200 @

(@100 it oywo

68, (91492493t . +110) i ' 6g. (91 +92 +793;">-_;‘\;.-,-;;_;..+ m)a‘aaﬂaz%‘
equalto: i (A)4020
(A) 4020 B A P A
ST e (B) 12010 1

{B) 2010 JEEE \ i

© 6030 - Ui (C) 6030

18098\P\2024 = RS ; “‘_.[:22-] k B DR




F|nd the - missing Number

; ffallowing'a;iditiona| Problem -

25

in  the

3 5

14458

arknln the followmg equatlon?
51_72 49 + 378. 352 +?= 9318 678
»).3767.836

' ;(B)'- 8.367
_'_ff,'f,(C) 836. 3766

(D) 12498 34
.al.uate 2.570.0005_-

hat value W|ll replace the questlon' |

69.

.72

. [23]

- (B) 30
' o (c) T7_“
- (D) 1§

71. _ﬁewwﬁwﬁmﬁ%’aﬁ

RrafiRea shg @Al § q@ W A
e :
8 3
4 *

+ 9 *

N b~ 00 U

2 2%
(A) O
(B) 4
(C) 6
D 9

70, 321

567 a?r:qaavaaﬁraaamaﬁ

A 35

18

2 I

:5172 49 + 378 352 + ? —9318 678

(A) 3767 836

‘(B) 8. 367
(C) 836. 3766

(D) 12498 34

. e 2_.\5+o;"0005

(A) 500 .
(B) 5000 °
(© 3000

(D) 2500

: .P.T.'O\."



\:.

i\\

‘\‘ 73. A number is as much greater than 36

as Is less than 86. Find the number :

s (A) 100

\ (8) 81

] () 61

©) 72

‘ "74. Evaluate log, 128

}‘ (8) 3/7

e (C) 3/8

‘ ~ (D) 8/3 | \
B . 75X 16% of X is equals to 2()% ofy, then |
E 2 find x1y : .
. (B) 21
% ’ (©) 1:2
{ .(D) 3:1 _
i1 76. If 7-:x=17.5_ : 22.5, théh.ﬁnd the value
H of x : | |
-‘ [ (B) 29
40 9 | |

(D) 12 |
180981P\2024

[24]

73.

74.

75.

U ST 36 W I & 981 & fora 86
@aélﬁmmﬁmf
(A) 100

(B) 81

.(C) 61

(D) 72

Teie R T, 128 |

(A) 7/3

(B) 3/7

(C) 3/8
(D) 8/3 ‘
e x BT 10%, Y33 20% ¥ SER & Al xty
(A) | 341

(B) 211

- (Q) ‘.1:2 :

76.

(D) 8

IR 7:1x=17.5 : 22.:5‘, a# X o1 W T
o | L

(A) 19

(B) 29

(©) 9

(D) 12



»., Aca" do a work l‘n ddays, B | g days
: an d"C in 10' days. Find the time taken by
A B and C to do the work together
'}“-:,(A) 107" days

,“;(B) 1191 days

-‘\"ft:(c) 23 days

’ ,(D) 4; days

3;'77_!%?]1.60'“‘ long train crosses a 160m

|ong platform in 16 seconds. Find the

?ggpeed of the traln
(A)i.-. 74 Km/hr |
"f};('B) 72 Km/hr.

p) 82 Km/hr‘

'

77.

78.

. DIfTE :

Ao o @ 4 A A B E, o 5 e ik

C 10 fo el €1 A,Bfmcmmm

i o e e s AT

() 10 R

B) 177 T

(C) 23 fm

(D) 4%—1%#15
1eoﬁﬁaﬁé1%§“1'6°ﬂaﬁam
1 16 Ae % UR B &1 37 B M T
%06

A 74 T T

(8) 72 fodh.peen

(c) 80 . /it

(D)’ sz%ﬁ’r/ﬂa

79.

[25]

saéaﬁmoomﬁwssrﬁ\maﬁam
awm_m@rmmm}:

(A) 11109,-‘»" o

(B) 9029.475

(C) 10824.32

(D) 18522

PT.O.

‘A

oty ’ 7
VA SRSV AN



il
YOS T

A
~ .

80. Area of a triangle is :

- Z(’fﬂf) 15 x Base x Height
(B) 2 (length + Breadth)
(C) ¥ (diagonal)*
(D) 1'% Base xHeight * "

81 If the cnrcumference of a circle is »}"7_,81.

then the percentagé - ;

\decreased by 50%
¢ of decrease in its ared is: . e
() 25% | Gy
(B) - 50%
(@ 0%
D) T5%
82.

82 Volume of a cube.u:, :
(A) 6 a? sq umts
_/(,BT a3 cubic. unlts

'(C) /3 a unlts
,(D) None of the above

83 'How many tlmes are the hands of a 83.

N-cika

clock are at rlght angle ina day? :
w2 |
-”ff(B) i _.
m 44
(D) 48 Y |
84, What day of the week was 15 August ~1.8»4
1947? ' T '
'(A) Saturday'

: ' ,'»»_'l(fB_‘) -Monday
| ‘,(f:) “Sunday \\

(D) Fnday »‘-'

18098\P\2024 ¥ 1761

80.

(D) 48

ga,-ﬁgawraaam‘cf*
(A) 12 X %UR/’-‘TG

(8) 2 (@ + ).
() Ve (Ri@l)
(D) 1x3nm»<3€ﬂ'§

aﬁmqaﬁqﬁfﬁsomﬁmm &
ammnaﬁrﬁﬂmﬂ

(A) 25%
(B) 50%

() 60%

(D) 75%

U U @ S & ¢
(A) 6 a @i 3% |

(B) a* & IR
C) V3 as@R
(D) 3w # I FE T

wﬁaﬁaﬁﬁw%ﬁrmmmm

() 22
(8) 24-
(C) 44

e

. 15%1947@%@&?%%{%?
' (A) Erﬁa'rv:

(B) WmaR

- (©) R

(D) W



85. How many days are there In x weeks  gs, ‘Wi x & # ey ot 2 &

xdéys? (A) 75
() 7x?
(B) 8x (B) 8x
(C) 14x (O 14x
| (D) 7 . (D) 7 ,
§6. January 1, 2007 was Monday. What  86. 1 &<} 2007 @1 §MaR &7l 1 FFa<l 2008
day of the week lies on Jan. 1, 20087: PN I BT B A A &7
1 (A) Monday (A) WHaR |
. _kB) Wédnesday . (B) ggar
(C) Thursday | - (€ TER
(D) Tuesday - , . (D) HeraR e
87. Arrange the fol.lowing“ in oi'd-er of 87 @ﬂémﬁmﬁmaﬁ '
increasing éonnotation: ' , At a:’ HQQHF{TR ‘ B
a. Domestic Animals ’ b IER
'b.  Animal L | | o c. oE
c. Horse d. ?ETHWEI

d. Beast of burden -
: (A) ¢ d b a
(A) c d b a .

~AB) b a Ke d (8) b ? : ‘ X
(C) b a d C - © b, a \ d Cot w3
®c d- a b D c ..d. a .b .
88. Find the HCF of 132, 204 aﬁd 228 3. 132, 204 31k 228 BT HCF SId Siford : .
AT 12 ‘ - (A) 12
(B) 18 (B) 18
©) 6 - (0) 6
(D) 21 ) (D) 21

g

“A

18098\P\2024 e g R RIEOSRA



e integers

89 w?qfﬁ t;mi'd?r % g,w:r a?r -\q@T ram i
993ﬁ'\’HCF9%‘ s
s RO

® 4 o it N RN (B4

SR .*(c)‘ 300k o o ©

900n d|V|d|ng 1'5968 by a certaln number, "904-;31}:;‘-15968 a?r»l!ﬁ P H@T :\E{ ﬁ‘éﬂ%ﬁ Eae
the quotlent 1s~89 and the remamder IS q‘\’ erh‘c'f 89 23k @rerm 37 %l WIS Fer

37 Flnd the d|V|sor .‘?51\1" 1 . a?[%l@ i
(A) 209?‘*.;;:'.

e
H'(C) 79

89 The number of palr of posntiv

fwhose sum is 99 and HCF |s 9 is

L .-L;;“D) 200

L“

L remamder If the e’mamder:'ls‘ 4

;-'.'determlne the dnhdend s e
~:;-'::_(A) 5336;‘""
‘,.(A) 5336

- (8) 23 - -(B) 23

| (C) 5478 L (C)\_‘5478}.‘.55. ‘

"'(D) 8741 (o) & o
92. | G I L
by 157 ,
(r) 2365 AR R
@) 1375=, gt L (B) 1375,
1/(@ 74365 (C)4365 ey

(D) 2275‘_ r L
18098\P\2024 e




93 .,\,\.:N:hICh Of the folloWlng . ot .
b a prlme

number?

:,éml:ld 3 in the number 5@4& is :

e numbermis +

,(A) - a fraction

.\S(B) a reccurlng deC|maI e
(C)‘ 'a ratlonal number

) ‘an |rrat|onal numberg L

;;18098\P\2624 \

93

’i7ﬂaﬂmm?%
N w4
(B) 5

(C) 25

; 96

[29]

94.

”ﬁ-'ka)x15'
| Y(D) 21

. QSW 527435 ﬁ 7 3ﬂ? 3 aswﬁu A $ .

' ’-(D) 6970‘

. PrefeRad 3 & B €@ 31T e &

(A) 241

(B) 337

(C) 391

':_(D) 571
ﬁﬁﬁmﬁmmﬁamaﬂaﬁm
o e e

i (Aﬂ. 3

GRS

“’?f :

... PTO.



97. The smallest three-digit prime N4
is N |
/(A') 101
(B) 103
(C) 107
(D) None of these'
98. How many three -digi

’can be formed using the diglts 1, 2,

}4 and 5 when the repetltlon of d|g|ts ISV :

not allowed‘?_ ~
(A 36
AB) 30
(C) 24 \
(D). 12 :

total of 7 men and 3 women?

- (B) 63 |
(C) 90
(D) 126

100. Which of the followmg number is notaf :f'f?..

odd number :

© 9
A ) 27
e '.'_.‘_.‘18098\P\2024

umber’

99, In- how many ways can a group of 5: :

men. and 2 women be made out of a;-ﬁ

(A 101

(8) 108

. (c) 107
(D) gaﬁ'@faﬂ’s‘a‘s"‘r

t even number' ; 98 3451 2,34 3R 5 @1 3T B Ry

s oy g ) orgefer R 2

<A> %

Sy 80

» ‘.é@73“@3ﬂT3aﬁ%ﬁI€ffﬁa5W$
5 maww%ﬁmw

':’-100 ﬁ‘:‘ﬁ"ﬁgﬁ ﬁ-@r aﬁaa’ra@rﬁma@
< (A) 3 o -




